
Year 6—Revision 15—Writing remainders as decimals 

Complete each of the divisions.  

5492 ÷ 56 =  

       

       

       

       

       

       

       

       

3679 ÷ 19 =  

       

       

       

       

       

       

       

       



Year —Revision 15—Dividing by a two-digit number remainder as a decimal 

Complete each of the divisions.  

5278 ÷ 62 =  

       

       

       

       

       

       

       

       

1789÷ 32 =  

       

       

       

       

       

       

       

       



Challenge 

 

Can you explain how a decimal answer would come to be .50?  

 

You can tweet your suggestions to Miss Whitehouse on the Year 6 twitter page.  


